e 12 B 30 25

10



®

ZL s hHeiggBERAR »)

MRt EiHeE-—-1a. HERHE

TR AR (BB D

@ JI1 i) 5, G gE A ® N IR BN ® il i) 48 N 2022 3, AR @ kim4a T XK
———— R IF B @ Wit B/
%4 (A1-D)

14| 1a| 75 | 125 | - 6-16 35| 111310 15|30 - [10] 30| - |m4] 5[ 15
19 | 10 17 - 6-19 66| 25| 16| 12| 2 |a1| = | 1822 20| ms| 10| 2
1a 19-24 41
24 |/ 35 60 - 9-24 78| 30| 18| 14| 2 |s6| = |27 2% 24 | ms| 10| 2
1a 22-28 56
28 = 95 | 160 - 1028 1 go|as| 20| 15| 25 | es| — | 30 -2 28 | ms| 15| 10
1a 28-38 66
%4 (GG25)
! 1240 1414] 45 66 | 57
38| 1a| 190 | 325 | 405 38-48 24 18| 3 |80 — |38 ms| 15| 10
1b 12-48  |[164] 70 62
1 1445 |l 5o 75 | 40
42 [ 1a ]| 265 | 450 | 560 42-55 26(20| 3 |9o5| — |48 M8 | 20| 10
1b 14-55 [176] 75 65
! 1552 f140] 56 8 | 45
48 [ 1a | 310 | 525 | 655 48-62 28| 21| 35 |105 — |51 ( ms| 20| 10
1b 15-62 [188] 80 69
55 | 410 | 685 | 825 2060 {60l 65| 30| 22| 4 [120] = | 60 22 52 |m10| 20| 17
1a 55-74 118
65| 1 | 625 | 940 | 1175 | 22-70 |[185| 75| 35| 26 | 45 [135] — | 68 | 115 [ 61 [M10] 20| 17
75| 1 | 1280 | 1920 | 2400 30-80 (210 85|40 30| 5 [160] — | 80| 135 69 [M10] 25| 17
90 | 1 | 2400 | 3600 | 4500 [ 40-97 [245(100| 45| 34 | 5.5 [200|218] 100 160 | 81 [M12] 30 | 40
HEHY (GGG40)
100| 1 | 3300 | 4950 | 6185 | 50-115 |[270]|110] 50 [ 38 | 6 [225]246[113| 180 | 89 [m12]| 30 [ 40
110 1 | 4800 | 7200 | 9000 | 60-125 [295|120] 55 | 42 | 6.5 |255] 276|127 200 | 96 |M16] 35 [ 80
125| 1 | 6650 [ 1000012500 60-145 |[340]|140]| 60| 46| 7 |290]315(147| 230 [ 112|m16] 40 [ 80
140| 1 | 8550 [ 1280016000 60-160 |[375|155] 65| 50 [ 7.5 | 320|345 165( 255 | 124 |m20] 45 [ 140
160| 1 |[12800( 1920024000 80-185 |[425|175| 75| 57 | 9 [370]400|190( 290 | 140|m20] 50 [ 140
180 1 |[18650(28000 (35000 85-200 |[475|185] 85 | 64 | 10.5 [420]450(220( 325 | 156 |m20] 50 [ 140




®

))) LEEAanEREaRAT @Ik

MR ERES--NEE

LT PR 28 (HRAhEE)

O £ i £ A 0GR 1 B 20 B, AL A AL
THRENL . AE i Hh B 55

@ Bk, R, IR B

@ Gl o) i A U2 A, R AR

@ [ Uf 1) 2 A5 AL

@ i it K%/ R

1b ' ' 50 | 18,5

19 1a 10 17 21 0-25 €6 | 25 16]12] 2 |40 18| 40| - [Mm5] 10 2
1b 90 | 37

24 1a 35 60 75 0-35 78 | 30 18| 14| 2 |55 27|55| - [ m5] 10 2
1b 118| 50
1

28 |21 95 | 160 | 200 0-40 %0 3% 20| 152 5/ 65| 30|65 - | M8]| 15| 10
1b 140| 60

38 ! 190 | 325 | 405 0-48 1141 45 | o4 18| 3 | 80| 38 01271 s 15| 10
1b 164| 70 80 | -

42 ! 265 | 450 | 560 0-55 126] %0 26| 20| 3| 95| 46 8 | 28 M8 | 20| 10
1b 176 75 95 | -

48 ! 310 | 525 | 655 0-62 1401 %6 | 55 | 24 3, 5/105| 51 95132 | ys 20| 10
1b 188 80 105 -
1 1 11 7

55 410 | 685 | 825 0-74 60} € 30| 22| 4 | 120 60 01 37 ly1o 20| 17
1b 210| 90 120| -

65 ! 625 | 940 | 1175 0-80 1851 75 35| 26 |4, 5/ 135] 68 115] 47 M0 20 | 17
1b 235] 100 135 -

75 ! 1280 | 1920 | 2400 0-95 210] 85 40| 30| 5 [160] 80 135) S3 Mol 25 | 17
1b 260] 110 160 -
1 2451 1 1 2

90 2400 | 3600 | 4500 0-110 5|10 45 | 34 |5, 5[200]| 100 60162 1\112| 30 | 40
1b 295| 125 200| -

12



®

ZL s hHeiggaRAR »)

B AR - - REAN

o[FTe

oDH
—ad
oDH
—ad.
|
e

A sl s S| | s
L1 L2 L1 E L2
L L
19-28 38-90

Je 2 5 h & Bl A%

® 7 I il £ b @ 4@ N, R BRI

@ iH THIERKERNIZ G

R~F (mm) BEET
g
Aimax. L lis | lmin, E b S Dy D dy Dy t t, e M TA[NmM]

19 20 66 | 25 | 20 16 12 2 40 - 18 | 46,0 | 12 - 145 | M6 14
24 28 78 | 30 | 25 18 14 2 55 - 27 | 575 | 12 - 20,0 | M6 14
28 38 90 35 30 20 15 | 25 | 65 - 30 | 730 [ 14" - 250 | M8 35
38 42 114 | 45 | 35 | 24 18 3 80 | 70 | 38 | 775 | 19 - 265 | M8 35
42 50 126 | 50 | 42 | 26 | 20 3 95 | 85 | 46 | 935 | 18" - 32,0 [ m10 69
48 55 140 | 56 46 28 21 35 | 105 | 95 51 | 1050 [ 21" - 36,0 [ M12 120
55 68 160 | 65 | 50 | 30 | 22 4 120 | 110 | 60 | 1195 | 26 | 51 | 4252 | M12 | 120
65 70 185 | 75 | 55 | 35 | 26 | 45 | 135 | 115 | 68 | 1325 | 33 | 61" | 50,02 | M12 | 120
75 80 210 | 85 | 65 | 40 30 5 160 [ 135 [ 80 | 1580 | 36 | 68" | 57,02 | M16 | 295
90 90 245 | 110 | 80 | 45 34 | 55 | 200 | 160 | 100 | 1970 | 40 | 80" | 72,02 | M20 | 580

Tk 1) by, POTASRER 2 s SR B KRR 2). 4, OIA

19| 44|46 47|51|52|53|55]|57| 58

24 59|60|64|65(66|68]70| 71| 73| 76| 77| 80

28 139|141]|144]148|150| 152 157|161 | 163|170| 174| 178 | 185 | 191

38 163[165]170]172| 1741178 183 | 185|192 | 196 200 | 207 | 213 | 217 | 222

42 291 297|304 308|318 325| 332 | 342 | 353 | 360 | 367 | 377 | 387 | 394

48 466|476 486| 491|506 | 516 | 526 | 542 | 557 | 567 | 577 | 592 | 607 | 618 | 643

55 1185|1215 1245|1266 1286|1316 1347|1367 1417 1468|1519

65 1316|1347 1367|1387 1417 1448| 1468 1519 1569 1620] 1671

75 2869|2926 2983 | 3022 3117 3213| 3309 3404 3500| 3595

90 5220 5310| 5400 5460 5610| 5760 5910| 6060 6210|6360 6510 6660




))) EESEANBEREERAT @Ik

E=E

5 25 £5 M ARN B R BFN 7 Bk 4 2%
@ 525 SE R ARN T RN B 3% 2% 45 WY BEN Y & FH - 35 2 AL Mk
O TIEZEM A 2%, FEHITE
| 14 @ f TAFNEY, W] ANF 3l 3= 2 iy S 2 oty 15 4% 0 mT LA gk
. ' AT P A T d

@ 2B T V) Wi 2h )

@ LM FARAN: NN,

e T s SNGGG40

1 Lern 4N
4N LAFN 4N
(] diilin 1
L] | | ; _
[] R ] £ doo | o N
5 53| ] | | g‘ - | S o Q Q @" Q <
SIS Q. i | .g
o -
T B
1
L wx
RN e S BT L:
L3 E1 La
AFN
EZ A AFNZURIBFNZY Bl 2%
AN Rsf (mm) HHER 3
) DIN EN ISO 4762-12.9
@d; Dy | De | Dy [ Du | 5| E | Ey S b | lsils | Larn | Lern | MxI | $rEz|i84 A M54 TA[Nm]
24 24 55 36 45 27 30 18 33 2,0 14 | 305 94 86 M5x16 8 10
28 28 65 42 54 30 35 20 39 2,5 15 | 355 110 | 100 | M6x20 8 8x45° 17
38 38 80 52 66 38 45 24 43 3,0 18 | 45,5 | 134 | 124 | M8x22 8 41
42 42 95 62 80 46 50 26 48 3,0 20 | 51,0 | 150 | 138 | M8x25 12 16x22,5° 41
48 48 105 70 90 51 56 28 50 3,5 21 57,0 | 164 | 152 | M8x25 12 41
55 55 120 80 102 60 65 30 60 4,0 22 | 66,0 | 192 | 176 | M10x30 8 8x45° 83
65 65 135 94 116 68 75 35 65 45 26 | 76,0 | 217 | 201 | M10x30| 12 16x22,5° 83
75 75 160 | 108 | 136 80 85 40 75 50 30 | 86,5 | 248 | 229 | M12x40| 15 120
90 100 200 | 142 | 172 | 100 | 100 45 82 55 34 |101,5| 285 | 265 | M16x40| 15 295
100 110 225 | 158 | 195 | 113 | 110 50 97 6,0 38 | 1115 320 | 295 | M16x50| 15 295
110 125 255 | 178 | 218 | 127 | 120 55 103 | 6,5 42 |122,0|] 347 | 321 | M20x50| 15 20%18° 580
125 145 290 | 206 | 252 | 147 | 140 60 116 | 7,0 46 | 142,0|] 400 | 370 | M20x60| 15 580
140 165 320 | 235 | 282 | 165 | 155 65 128 | 7,5 50 |157,5]| 443 | 409 | M20x60| 15 580
160 190 370 | 270 | 325 | 190 | 175 75 146 | 9,0 57 |177,5] 501 | 463 | M24x70| 15 1000
180 220 420 | 315 | 375 | 220 | 195 85 159 | 10,5 | 64 [198,0] 555 | 515 | M24x80| 18 24x15° 1000

14




®

ZL s hHeiggaRAR

Ry e - L P N =R

i 5 R EA-HE B R 8

#1r 2Hh E A-H A I B 4%

@ % C Ak # — fi W A 4 1R A

b >4

® 5k AR OE W R 3 3 Bl 2 Bl

@ G N B 2 ) A% s A1 A R R 4 7 5K
A 7] 22 2 A1 3R

5 2 4

X
o

D4
—ad

od

19 20 66 | 26 | 16 | 12 | 20| 40 | — 46 — 17,5 | 31 M6X16 14
24 28 78 1 30 | 18| 14 | 20| 55 | — | 57,5 — 22,5 | 33 M6X20 14
28 38 90 | 35| 20 | 15 | 25| 65 | — 73 — 25,5 | 39 M8X25 35
38 45 114 45| 24 | 18 | 30| 80 | — | 835 — 35,5 | 43 M8X30 35
50 85 — 93,5 M10X30
42 126 | 50 | 26 | 20 | 3,0 | 95 39 48 69
55 — 97 — M10X35
55 95 — 105 M12X35
48 140 56 | 28 | 21 | 35| 105 45 50 120
60 — |108,5| — M12X40
65 110 | — 119,5 M12X40
55 160 65 | 30 | 22 | 40| 120 50 60 120
70 — | 122 — M12X45
70 15| — 123,5 M12X40
65 185 75 | 35 | 26 | 45| 135 60 65 120
80 — |132,5| — M12X45
80 135 | — 147,5
75 210 | 85 | 40 | 30 | 5,0 ] 160 67,5 | 75 M16X50 295
90 — | 158 —
90 160 | — 176
90 10 2451100 45 | 34 | 55| 200 ppe 815 | 82 M20X60 580
100" 110 2701110 | 50 | 38 | 6,0 | 225]| 180 | — 185,5 84 102 M16X50 295
110" 120 2051120 55 | 42 | 6,5 | 255] 200 | — 208 90 115 M20X60 580
125" 140 340(140| 60 | 46 | 7,0 | 290|230 — |242,5| 105 | 130| M24X70 1000

#iE: D AMAE 1000105, RS 4 R IR IR

15



